
SAP ABAP table T5ITIC {Marriage leave table}

T5ITIC

MANDT [CLNT (3)]

TRFAR [CHAR (2)]

TRFGB [CHAR (2)]

TRFKZ [CHAR (1)]

TPTRA [CHAR (1)]

ENDDA [DATS (8)]

WTHCR [CHAR (4)]

ABSY1 [CHAR (2)]

ABST1 [CHAR (1)]

WTHCN [CHAR (4)]

ABSY2 [CHAR (2)]

ABST2 [CHAR (1)]

WTIIN [CHAR (4)]

ABSY3 [CHAR (2)]

ABST3 [CHAR (1)]

T000

MANDT [CLNT (3)]
 T5ITIC-MANDT = T000-MANDT 

0..N

0..N

T510A

MANDT [CLNT (3)]

MOLGA [CHAR (2)]

TRFAR [CHAR (2)]

 T5ITIC-TRFAR = T510A-TRFAR 0..N

0..N

T510G

MANDT [CLNT (3)]

MOLGA [CHAR (2)]

TRFGB [CHAR (2)]

 T5ITIC-TRFGB = T510G-TRFGB 
0..N

0..N
T512W

MANDT [CLNT (3)]

MOLGA [CHAR (2)]

LGART [CHAR (4)]

ENDDA [DATS (8)]

 T5ITIC-WTHCN = T512W-LGART 

0..N0..N
 T5ITIC-WTHCR = T512W-LGART 

0..N

0..N  T5ITIC-WTIIN = T512W-LGART 0..N

0..N

T554P

MANDT [CLNT (3)]

SPRSL [LANG (1)]

MOABW [NUMC (2)]

ABSTP [CHAR (1)]

 T5ITIC-ABST1 = T554P-ABSTP 

0..N

0..N

 T5ITIC-ABST2 = T554P-ABSTP 

0..N

0..N

 T5ITIC-ABST3 = T554P-ABSTP 
0..N

0..N

T5ITI3

MANDT [CLNT (3)]

MOABW [NUMC (2)]

ABSTY [CHAR (2)]

ENDDA [DATS (8)]

 T5ITIC-ABSY1 = T5ITI3-ABSTY 

0..N

0..N

 T5ITIC-ABSY2 = T5ITI3-ABSTY 

0..N

0..N

 T5ITIC-ABSY3 = T5ITI3-ABSTY 

0..N

0..N


